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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

ol & TS wEaft

(Please use Biack Ball Point Pen Only}

i Method of Marking Answer:
To give an answer, please darken
one bubble oul of the given five, in
the OMR Answer Sheel against thal
question.

2. Valuation Procedure :

There are five answers to a question, .
only one of them is correct / nearly
correcl. 02 marks will be awarded for
each correct / nearly correct answer
and 01 mark will be deducted for
each wrong answer. [f more thanone
bubble are darkened fora question, it
will be treated as wrong answer.

3. Handing over of Answer Sheet to
Invigilator:

(i) Please ensure that all the enlries in
the answer sheet are filled up
properly i.e. Name, Roll No.,
Signature, Question Booklet No. efc.

(i) Belore the limitation of 2 Hours
duration while leaving the
examination hall, hand aver the
queslion paper 10 the invigilator. f
needed, aller duration of period,
you can ask lor your question
paper Irom the Centre
Superintendent.

4 CareinHandling the Answer Sheet:
While using answer sheet adequate
care should be taken about tear or
spoil due to Tolds or wrinkles.
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1. This question paper has 100 questions. Each question carries 2 marks.
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page and Indicale your answers on the Answer-Sheet provided.
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1. Pkl 2 ¥R @ S (e @ s

FElH 7w ) gatea 2 ?
a) < H 4% - 15383,
b) s %1 4% -~ 15394,
c) wedma ®qE - 1576 %.

- ) W g% - 1657 %
e) WE W g - 1699 3.

<o, e Ta & ol § vre o whE wioeel
7 reen ¥ wan 1 Poffe A sk @
FYR EA B 7
a) rgilEt 3T 3 TRier Wit
T H) £
p) v feg Awan aw@ wur F
pescl _
¢) wee w9 1 fergwm fafelsa
iR B EmE A T
d) 7 ¥ 3 Rgem @i A
frafeera @G nfes f

€) ngﬁm%me}# _

3, Prfefee § & SR @ D (6 7 12
/TR o W TG W T T SR
TR gitfer T # 7
a) WA - HEAGH
b) umed - WL
¢) T - g
d) = - g
g) EEE - EWATR

. Which of the following pair (batlle

during the Mugha! and Maratha period
and ils year) Is correctly matched ?
a) Battle of Chausa — 1538 A. D.
b} Batlle of Kannaﬁj -1539A.D.
¢) Baitle of Haldlghati - 1576 A. D.
d) Battle of Khajwa — 1657 A. D.
e) Battle of Khed — 1699 A. D.

. Which of the foliowing statement is frue

about the active revolutionary movement
in India duringthe years of World War ?
a) Chandrashekhar Azad founded
the Anushilan Samili,
b) Bhagat Singh was the founder of
Naujawan Bharat Sabha.
¢) Prafulla Chakl estabiished the
Hindustan Republican Association.
d) Surya Sen Qrganized : the

Hindustan Socialist Republican

Association.

) Shachindranath Sanyal was the -

founder of Yugantar..

. Which ¢f the {ollowing palr (A State of

South India from 6% to 121 century and
its Capital) is not correctly matched ?

a) Pallava— Kanchipuram
b) Pandya— Madural

¢) Chera — Puducheri

d) Chola — Tanjvur

¢} Hoyasala ~ Dwarasamudra

AR B
4. @l ¥ IR W AD (W E )
T iR
a) FES wsha - 1916.
b} e - i welve 1932
¢) foama  arEt-@ 2w
woelen - 1945
d) frrem el - 1946
e) Th wehan - 1947

5. IER %1 Ffe R e IWE & T
7 gmami

a) Srch -

b) =7 fied

¢) wite FHamr

0) W9

e) i A 7 7

6. g v e sheweEn & 18575, R
FR R HR AR ?
a) A=
b A @ | A
" ¢) HEE -
d) =1, 5. 4. TRER-
e) T A9 T
T 7. wah 1928 % arifra gz wdem ¥
7 o AeRR AR AT
a) e s .
by 2. T, . 3fEmd -
¢) IETZ W
d) A, 3, 7
o) FH AR T

4. Which of the following pair {pact and
year) is correctly matched 7
a) Lucknow pacl - 1916
b} Gandhi - Irwin pact ~ 1932
c) Liyakat Ali — Bhulabhai Desai
pact— 1945
d} Shimla pact = 1946
e) Poona pact — 1947

5.. The revolt of Vellore occur during the

regime of which Governor ?
a) Wellestey
b} Lerd Minto
¢) Lord Comwallis
d) Sir George Barlow
e) None of Ihese

6. Who was the prominent Indian

Historian he did not accepted 1857
Revolution as a Revolution ?

a} Tarachand

b) Dr. S.N.Sen

c) Sawarkar

d) Dr. R. C. Majumdar

€) Nene of these

7. Who of the following was the President

of ‘Al F’a(ﬁes' Conference held In
February 1928 ?

a) Motllal Neharu

B) Dr. M. A, Ansari

¢) Subhashchandra Bose
d) M. K. Gandhi

¢) None of these
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8, sfufan ¥ HE A o @en Wid A 8. Among the followings which mountain 12, Fifea &3 3 29 T & T & 9E 12.  Which of the following regions is NOT
e ? ’ vange Is the oldest In india ? HIT T a7 e i ¥ ? affected much by Ihe Arabian Sea
_— branch ol Monsoon ?
a) it a) Nilgir . a) v e a) The Weslern Ghat
by aRwH - by Aravali b) T TR b) Deccan Plateau
¢} A ¢) Satpura ¢) WeA W& ¢} Madnya Pradesh
d) e R d) Westem Ghat d) oy S d) Chhattisgarh Basin
o) fonte g) Himalaya ) T & N e @) None of these
g W eI T § 9. 'Govind Ballabh Sagar Is located In 15, Prefefem 3 & Fa R & Feh W A 13. Among the following which one is
o) TTEE « a) Uttara Khand Tag R ? . related lo Blue Revolution in Indta ?
b) I S b) Uttar Pradesh a) a) Honiculture
o) frew” o Bhar b EER by Floriculture
d) Sfgan . d) Orissa ¢) T U » * v} _Pisciculture
o) UM IR &) West Bengal d) ew I d) Sericulture
10, ‘God fem R wivad ? 10. ‘Khetr" is famous for €) FH 8 H €} None of these
a) ‘¥ 3T a) Ironore 14, “sreen s e s 14. ‘Jarva Tribe' is found in
by FaEt b} Coal a) SETGE WA a) Arunachal Pradesh
o) Sl ¢} Manganesse by e b) Meghalaya
. g d) Bauxite o) i c) Mizoram
o - e CopFer o) ffen &) Sikkim
14, =l if 3 qen <t 3@ favry @ # 1. Amonglhefdllowings_ which river flows g) FemEn da - ¢€) Nicobar Island
vatia B Y 1 In rltt_\railesf_‘? 15. v Suhree w1 O i we it & 7 15. The literal meaning of which
2 =k g} Kaveri ) el Upanishada is white horse ?
o) W, b) Yamuna by S R a} Kathopanishad
9 N %ﬁ% ¢} Son & Aty e by Chhandogya Upanishad
o) awh d) Taptl d) S ¢) Tailtriya Upanishad
o fe &) Rihand & o g d} Eshopanishad
, e) Nene of these
Set-A- CGP-16-01+* Page No.7 Set-A
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@3 et wel B A R R s w
LY
a) fim
b) F..
C) B .
d) <igaT
e) 5 8 wif T

17. Fma 1 @ B e SOER S
el & 7

a) el wEE

b) wed e

¢) e H -

dy T geerell

e) ¥ @ = Al

18, s wephy & ararta e ot

16. Incontext of Indian culture who among
the following is called Ananga 7
a) Shiva
b) Krishna
¢} Kama
d) Laxman

¢) None of these

7. Who among the following Is called the
founder of indian Atomism ?

a) Maharshi Kapil

b) Maharshl Goulam
¢) Maharshi Kanad
d} Maharshi Patanjali

€) None of these

18. In contextof Indlan cullure ‘Rlt' means

TR mEm AT

20.

ra

21

/s

a) @l ReFR=
b} w@rh frEemEe
¢} @M femAg
d) w@rf shem

e) T & 7§ ek -

. bl i B T B d | 21,

a) 73T
b) Ty IEm
c) & vEm
d) wem FEm
¢) fmim .

22.) g ¥ ot 8§ wfe =g v fm a2 v 22,

i = on el A7 F 475 wR A
¥y =fFr T =qg, ‘- @ @
oo frm B 2 7

o v & A 20

The writer of “Satyartha ﬁrakasha" is
a) Swami Vivekanand

b} Swami Nishchalanand

¢) Swaml Chinmayanand

d) Swarni Haridas

e) None of these

Which is notincluded in manufacturing
sector?

a) Lafgelnduslry

b) Small Scale Industry

¢) Micro Industry

d} Medium Size Industry

¢) Construction Ingdustry

Who has determined the poverty-line,
Rs. 32/{-per day, per person
consumption ex'pendiiure for rural area
and Rs. 47/- per day, per person

/
a) ok B - a) Natural law o R A 3 consumption for urban area in India ?
6) 5 b Artificial law T TR AR A 8) Prof. S. D. Tendulkar Comillee
) b) . . e vl 3 ¢ )
¢) wrE ¢) Human law g A R Wﬁ‘m b) Prof. C. Rangrajan Commillee
) o ¢) Dr. Montek Singh Ahluwalia
d) mwf fram d) Social Taw d) o e Rre wlf
¢) None of ihese 3 <. S dy Mr. Yashwant Sinha Committee
&) T & Bt AW : . &) =l T ¢) Dr. Bimal Jalan
19, ‘Fowm wfeima * FeA § g 19. Thestatement “Tamsoma Jyotirgamaya” 23, wra# 8 i dE A R e T 23. Which s notincluded in 8 core sectors
p—— was originally mentloned in - T . in Indla ? ’
. a) Upanishadas a) e a) Coal '
n‘g‘[maﬁ =l
) b) Mahakavyas : by sdw b) Fertillser
c) o o) Puranas o R ¢) Electriclty
d) geh & d) Shaddarshanas N O W d) Chemical
e) 7 B B E e) None of thesa \ ) e e} Coment
CGP-16-01+% Page No. 8 Set-A CGP g 16-01* Page No. 9 Set-A
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24, ¥ wad iR et o Pafifa 7R
s S o dam Frn e @ 7
a) Pt dex
b) ¥eH.
. ) YEiEH
d) e
€) I 1 4 W et

26, v T ffmion iy (NMP) % <
Hiefl 7
a) 25 fememt 2012
b) 25 femr 2011
¢y 25 fewar 2013
d) 04 TR 2011
€) 25 Favat 2011

26, we dusim ey whew 2011 - 12%
rgem = AR Ry Sermd e ot 7
a) 2.2 wiwE
b) 5.6 k@
) 8.0 Wi
d) 7.1 wiewm
¢) 7.3 wiiwa

27, Tiod o i Wi & Frorifea A R
/g &3 el vy fileh fem mR
ayeRfia fm ?

24,

25,

26.

27.

From which sector of the following,
largest quantity of cotton texiile is
produced inthe couniry ?

a) Mill Seclor

b) Handloom

¢) Powerloom

d) Roslery

€) None of the above

When was the National Manufacturing
Policy (NMP) released by Govemment
of India ?

a) 25 December 2012

b) 25 December 2011
¢} 25 Decernber 2013 ‘
d) 04 Navember 2011

e) 25 Novemnber 2011

What was the Current Daily Status

{(CDS) unemployment rate in India as per.

National Sample Survey 2011 - 127
a). 2.2 percent
b) 5.6 percent
¢} B.0 percent
d) 7.1percent
€) 7.3 percent

Which of the following sectors has
attracted the highest foreign direct
investment llow In indla In the last one
decade 7

2) JEE i DI I TR a) Other chemical except fedilizer
b) B m.' b} Semvice sector '
€) T WEE ¢} Food-processing
d) eI d) Electronlcs
e) ¥ & w 7 e) None of these
CGP=-16-01% Set-A
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(UL B SR Ay
og. frfifam ¥ ® A T wg Y oY T
7 st

a) TR
b) 39 AR
€) W "
d) o
e} T WEEE § AR

26. Prorffar # Q. aRd dReE W S W 9
N iR e e SR wwe ?

S @) wEgwE 200
By, 37 301
¢) g 310
d) 3 311

. €) Faga i & = T

'mﬁ'mmm‘ﬁmﬁﬁw
afbRe !

28, Who among the following doesn’l take
oath of the office ?
a) President
b} Vice President
c) Prime Minister
d) Speaker
g) Judges ot Supreme Courl

29, Which of the following Article ol indian
Constilution mentions the "Doclring ot
Pleasure’ 7

a) Article 200
b) Alicle 301
¢) Aricle 310
d) Aricle 311
€) None of the above

30. Which of the following doesn't consist
in the pawer 'To Pardon’ ol President 2

i, & i. Pardon

i, SR ii. Commutation

fii. iR jii. Remission

iv. form iv. Respite

v. WfiEmr v. Reprigve

vi. 1% vi. Detention

vii, T ; .
vii, Continuation

a) i aj i

b) i Hi B i i

oW Ve / Qv

i i bvove. dy i i i iv v

&) vi Vil »- g) vi vil

‘CGP-16-01%* Page No. 11 Set-A
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Tifers il | 31.
A 7 T ) \Ehm b (EE

B. Wy, - |t)ﬁ"ﬂmﬂ

C. uﬁﬁq\/k fify T T 3R B

D. 3o ¢ Y vy g it =ity

E. stftemm y=@ ’v) srfiTre T
Eaketc

A B c
a) ii iv v o i i
b) v i v
-T) W iii ¥
d) iv v jii i i
e) it ii i v iv

32 ks i A e mnadia v 32.
i gﬁmmﬁ%@ﬁaﬁﬁmﬁm
I
i,y foa Rt w w s T8
BT 2
. ﬁaﬁ&mﬁmaﬁmﬂmﬁa
R o wehe 1
v. ﬁﬁﬁﬁ%mmﬁ#ﬁm
2 &
v. T=0 a fn Ries = 14 fE @
U LT Tl 2
vi. TRy i Rded woewen e &
TR T2 T B
vii. Tea T fie faides =) gaiftm =
R 1
viii. Tt R R Rl wdgT
i g =T A
a)ii v
byv v
o) iii it
dyi il

e) v vi

Matchit. .
A. Habeas Corpus i} Be mare

fully informed

B. Mandamus i) By which

authority

C. Prohibition  lil) We cornmand
D, Certiorary iv) Let us have the

body
E. Quo-Warranto v) Wilte Subortinate
Courls
A B ¢ D E
a) il iv v il i
b} v ] v i I
c) iv i v i i’
d v il il
e) i i R

Wich of the following i not correct ? |

I
il

Iv.

- v,
vii.

viil.

Each money blll is finance bill.  ~.

Each finance bill Is not a mcmey
bill

Finance bill can be Imroduced n
Lok Sabha only.

Finance bill is presigned by the
President.

. Ralya Sabha can detain the

finance blll for 14 days.
President can not refuse 1o signon
finance bil,

Rajya Sabha can amend the
finance bill.

On deadlock on finance bill joint

sesslon can be called.

al
by v wi
¢y il il
dyi vl
e) v vi

CGP -16—-01% Page No. 12

Set-A

[TRTIIMRMmED
Py A 9 A el we e § 33. Which of the following President was
SR ® 3 74 et e “"‘&"Tﬁ ¥ appeared before Supreme ?our‘l, eren
Supreme Court was hearing election
Fraern fore 1 g e e £ dispute of the President ?
a) . s g a) Dr. Zakir Hussain
b) = =% iR b) V. V. Giri
« ¢} A FEh o o) Fakharuddin Ali Ahmad
d} fiemi Hefta & d) Neelam Sanjiva Reddy
e) T Al fire e) Gyani Zall Singh
34, Ty €% g = e @M 6 9 | 34, The tenure of which Lok Sabha was
H; 7 " about 6 years ?
a) T o a1 a). 51 Lok Sabha
. b) et s e b) 7' Lok Sabha
.o e dm ¢) o' Lok Sabha
) RE w0 d) +1'" Lok Sabha
) Rell v ¢) 131 Lok Sabha
@ e ' : 35. Baking Soda is
a) Wilvam FERr Fhie a) Sodium Hydragen Carbonate
b) HifEa TREGEA T - b) Sedium Dihydrogen Carbonate
¢) SRAR TR AL ¢) Disodium Mydrogen Carbonate .
d) ¥ifeam FETe- ! d) Sodium Carbonate
o) T | #rd 7 &) None of these
38, TREdaE 36. Antacids are
8) -"".T“‘ . a) Base
by @ b} Acld -
o) T c) Salt
d) T d) Buffer
o TR ¢) None of these
CGP-18-01» Page No. 13 Set-A
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37. GEmor & IR 8
d a) freat ® i T WA T
b} ¥R R R T T T
o) TR R TR W T
d) Fwfea Al -
e) 31 R T
38, i (P 3R )= S e T &
a) WEw M A
by avadE W d -

¢) Iow v &
d) e T

e) ol 4w 7
39, 220 v TR Y HIE IR YN 05 A
HEG K RiEoe]
) 110w-
l;) 110v
c) 440w
d) 220w-
e) T 4 FE T
40. 7 & P wr e A A e R 7
oy A m
by W S0 WAL

37.

38-

39.

40.

Example of corrosion is
a) Black coating on Silver
b) Green coating on Copper
¢) Brown coaling on Iren
d) Above three

g) None of the above

Myopla is correcied by using
a) Concave lens
b} Concave mirror
¢) Convex lens
d) Convex mirror

€) None of these

An electric bulb is connected to 220 v
generator. The current is 0:5 A. The
nower of the bulb is

a) 110w
L) 110v
c) 440w
d) 220w

&) Nong of these

Which of the following constitute a food
chain ?

a} Grass Wheat Mango '
by Grass Goat Human

o) W e T ¢) Goat Crow Elephant
d) YR wo S d) Grass Fish Goat
g) T & Fd T &) None of these
CGP-16—-01 ¢ - Page No. 14 Set-A
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(TR N0
41, 10 v Praw fred waftm ® 7

41. 10 percent law is related with
a) Transferofenergy as food fromone

a) S w1 @ SR tropic tevel to other
a:fﬂ K S qga:n by Transferof heatiromone mattesto
b) o7 1 O W qy’tqm‘ﬁqgam another
. c) Transfer of Birds from one zong 1o
c) ki o R S A & 3 e another
d) Wi 1 T A S R A d} Transfer of water from one zone 10
g) T A A T e) :12?:?1 these
| ' WM IR W E e e d 42, Whichis main component of natural Gas ?
' .’,, g) M. a) Methane
bR b) Ethane
) W v c) Propang
} d) Sl d).Benzene
o) T & = T ¢} None of lhese
' 4. EERiE 43. Watergasis
“  a) CO+Hy 3) CO+H,
b) CO+H,0 b} CO+H,0
) GO, +H, ¢) CO, +H,
d) CO,+ H,0 d) CO,+H0
8) Tt w e} None of these
44, Trm a8 i m orma Y fien argeum 44. Inwhich yearCenIralWélerCornrniss‘:on
Q;Sm Wi?ﬂ £ w1 established “Irrigation Research and
'} 1084 Management Organisation” ?
a) 1984
b) 1948 b) 1948
c) 1964 ¢y 1964
dy 2004 d) 2004
e) TR el €) None of these
CGP-16-01 v Page No. 15 Set-A
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45, FH AT R MR 45. ‘Which Is not Green House Gas 7
g on, ) CH,
b CFce b} CFe
c) Sbé c) SO,
d) N0 d) N0
g) 7 A F ¢) None of these
46. WTdta any A1 ) e SR BRE 2 46. The first Indigenous fighting plane of
s/ Indian Air force Is
a) tod. .
b e a) Tgas
¢ b) Vinashak
. ©) I ¢ Ojas
d) i d) Agni
e) s 1 A B A e) None of the above
47. £rE1T 13 FEE 2015 F TG D 47. On 13% January 2015 FIFA declared
T e fRm player of the year '
a) Befgmt sl a) Cristlano Ronaldo
b) ferv &, b) Lionel Messi
¢) e IR ¢) Manuel Neusr
d) < Ay d) James Rodriguez
¢) Ingra & A w7 ¢) None of the ahave
48, A & A @, @ . 3} 13 = 48. First CNG based train of Indid started
2015 P FE -8 ~ei 7 T<h ? on 13 January 2015 run between
a) fardi A e a) Rewar to Rohtak
by R A m by Delhi lo Mumbai
o) A A P ¢} Rohtak to Nizamuddin
o) TEs 2 B d) Howrah to Delhi
o) 7 = ¢) None of 1hese'
40. 4 2016 %1 o 7 it TR TOEHR 49. Who is awarded Sahilya Academy
T e 7 Prize In Hindi for the year 2016 7
a) ™ — a) Prebha Verma
by P I b) Geeta Upadhyay
¢) TR i~ ¢) Nagira Sharma
d) TSR d) Swarajbir
o) 7 @ w7 e) None of these
COP~15-01% Page No. 16 Set-A

G T
50, @i 2016 F it geemn il R 2 7

8) Y@ .
b) g™
G)Wﬁﬁ ~
Y
: e) T AT A

. (3 P 7o R
1, 20 YT 1938 # sy B
. e e R
Hfired # Te B
2.saﬁﬁﬁzaﬁniaﬂ'ﬁmﬁﬁt'tﬂm
o v i |
3, gt 1939 v s A T

. ,-:'j‘ .'l 1R

wsm gm

a) 1,2H3FRR .,
by 12w}

c) 2wE 3FAR

d) 1@ 3T

g) ¥w 19d R

52, Prefefas i A B i ol RoTH

50. Who has been awarded "Gyanpeeth
Award" for the year 2016 7
a) Shankh Ghosh
by Mridula Garg
¢) Namver Singh
dy Shankar Kurup
e) None of these

51. Read the following statements.

1. On 29 July 1938 Pt. Ravishankar
Shukla of Chhattisgarh formed
second congress cabinél of the
central provinces. |

2. This cablnet Introduced the "Vidya
Mandir scheme in the province.

3, On § November 1939 this cabinel
tendered resignallon.

Select the correct answer

a) 1,2and 3 are correct

b) 1 and 2 are correct

¢} 2 and 3 are correct

d) 1and 3 are correct

€) Only 11s correct

52, In which of the following year
Chhattisgarh became a division of the

1 G AWM A 7
. t ?
a) 1860 central provinces
" by 1862 a) 1860
b) 1862
c) 1863 o) 1863
d) 1865 o) 1865
g) 1868 ¢) 1868
CGP=16-01+ Page No. 17 Set-A
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53. Fefaflag s ol

7§, o v 1942 % g & Fie 3

TR P forgit ‘7 WIE SR
& R AT |

2, TR ¥ g T e o A
AT % FEALE ¥ T e

a, fromag # faenfidi 7 9 avd 1942
) TS H |

aE I g

‘a) 1, 2w 3w,

b) 1 2%}

c) 2w 3wl

d) 1@ 3WE

e) Faa 1adi

54. mﬁmmﬁﬁqﬁ@a

53. Raad the following statements.

1. On9August 19421he Congressmen
of Raipur took out a procession
and shouted slogan ‘Angrezon
Bharat Chhodo'.

2. Ona youth of Raipur Ramkrishna
Singh Thakur holsted tricolour on
the High Court bullding of Nagpur.

3. In Bllaspur students observed

_ ‘hartal’ on 8 August 1942,

Select the correct answar

. a) 1,2and 3 are corvect

b) 1and 2 are comect

¢) 2 and 3 are correct

d) 1and 3 are carrect

) 'dnly 1is correct

54. Revolts at the_following places

= ¥ s g occurred during the Maratha Rule in
— Chhanis'garh
2. wow 1._ Dhamdha
5 s 2. B:argarh
4 | 3. Kawardha
S 4. Tarapur
3 g P
: Select the correct answer
a)1,2,3°
a) 1,2,3"-
b 2,3.4 b) 2,3,4
0 1.2,4~ o 1,24
d 1,34 d) 1,3,4
e) 1.2,3,4 e) 1|2|3|4
Set-A
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- 31 w1946

RN A
55, Freffaad d e gt (e G A1)
g TR ?
a) wor & Teehfes - 3. g

wd, 7-8 Lic
fede 1946

1) Teemag & el — Y R
e, 13-15 fis

. fogm 1946

£) e TRES — T
wEER, ST, Bt

L g T - 1
‘ i fom v, Y
15 3T 1947
&) faeme i flm - TN
THET, Teramtt
" 15 3w 1947

56, fyefaRan Fud i |

1. 20 @ 19159 TR ¥ e §
Tl % WhTM 300 TR
e g

5, 7 weiE ) e e o+ 3
1

3. Wi ¥ TR ged W femi
i T |

T T g

a) 1,2W3WAR

b) 1ud 2R

¢) 2 3TE R

gy 1@ 3w

SEECREGE:

55. Which of the following pair (event and
person) is not correctly maiched 7

a) Political - Dr. Khoobchand
corference at Baghel
Samada, 7-8

December 1946

b) Students week - Bhuvan
in Bilaspur, 13-15 Bhaskar Singh
December 1846

¢) Tahsil Political - Mohanlal
Conference, Bakliwal
Bernetara,
a1 December 1246

d) Tricolour hoisting - Pt. Ravishankar
at Gandhichowk, , Shukla '

Aaipur,
15 August 1947

g) Tricolour hoisting — Rarngopal
In Bilaspur, Tiwari

15 August 1947

56. Read {he following statements.

1. On 20 June 1915 a Conference of
about 300 Malguzars of
Chhattisgarh was held in the
Town-hall of Raipur.

o This Conference was presided by
Raosaheb Dani.

3. The Conference discussed
National issues.

Select the correct answer
a 1,2 and 3 are correct

) 1 and 2 are correcl
¢y 2 and 3 are correct
dy 1and3are correct

g} Only 1is correct

CGP-16-01 %
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EAMEAEMNER

. 5 ’ : i6 habharal, the name
57. mﬁ@mﬁf@ (@. 7. Herrmd 57. Which of the following pair {tribal revolt 61. FETTRA STt 3 WEED = 7 W 61. :;:: ::::; ‘::::a a
T w@ ) ke ¥ 7 in C.G. and leader) is correctly 8) Fal #) Kaver
a) WiMTemeT i 1795 — W wigh "‘a)‘“;:d ? L —_— by Tt by Tapt
. a opalpatnam - Kora Manjhi ¢) ¥RFEl - ¢) Mahananda
b) fermfrll fide 1856-57 - eriek, Revolt 1795 d) T d) Ganga
iz b) Lingagirl Revoll - Dalganjan : o) v & 7 ¢} None of these
o) = R, 1859 - s 3 1856 - 57 Singh -
- : ¢) Koi Revolt 1859 — Jugga Dorla v Y A At oy 7 | 620 Kisan Sh”‘;’"g Mall constructed in
d) g e 1876 - v Rl d) MuiaRevor 1876 — Jhada Stha & PR "‘h)‘°"; ‘;‘;:;ur
o) Wl fage 1910 - e - Di ' a) va
) e) Bastz_irRevolt 1910- Dinanath b) m by Bllaspur
5. TERE WA H 7999 o o 58. The Kutumsar cave was invented by €) TeITEa ¢) Rajnandgaon
C 9 v R a)- Prof. Shankar Tiwari o' & Ralpur
o) . T ! o e) T A w7 €) None of these
b) sh. wiwer Band 3 b) Prof. Shankaranand Tiwarl _
N y &) Prof. Sewa Shankar Tiwari g T R AR A R 63. :n_ v;_thlcr :n:trlct *The Kulumsar” cave
. Tt e o . s situated ?
d) . e R d) Prof. Hamsha_nkar Tiwar . a) mﬂm 2) Sarguja
¢) 7 A B T e) None of these b) TR b) Jashpur
C) TER c) Bastar
59. wvH TR w83 dew e & 59. Who was the director of first d) TRETE d) Dantewada
/P Chhattisgarhi film "Kahl Deve ¢) T AFE 7 e) None of these
——— Sandesh” 7 )
2 :Hmm v a) Manu Nalk (First) . 64, TawiEni fren & R S0 w64 d?;:;\:fgr::fif: r »:'h ::a;lnandgaon
.o} by Sathish Jain :' szt ? N orest
c) THTER . 9 IV a) Panther reserve
¢) Ramadhar : ® b) Waterfall
d} ECIi LR i b} AR -
d) Devilal ¥ . c) Prehistorical reck paintings
e) ¥ A =R T a i o) 9'1’1. formfers st
@) None of thes g iR - dy Temple
: fth
60. R U A AT 2 60. Suraj Dhara Yojna Is related - owaRiw o) None of these
‘ o ) y lan refugees are being
lated . o § Rt Tl el w f 1 65. Wherathe Tibet
a) =a waf a) Loan relate seftled in Chhattisgarh 7
b) ¥ sreeash - b) Exchange of seeds - &) AR a) Samaripat
c) “Tikakaran b : b) Mainpat
¢) ZIm . ¢) FRA ¢) Narayanpur
d) m wamh d) Insurance related d) =eh d) Bachell
e) AN e) Nona of these : e) i E K e) None of these
: : Set-A
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(@) e e i e g ¥ 4
WEEE T § !
a) T
b) wiE
¢) Fmwen
d) Tham
¢) ¥ 8w T~

67. ﬁw&aﬁmmmmm?
a) Higte
-b) wEfeEn#
c) W
d) W
e) T A T T

68. iRl 3T ‘R & o % dEw
ok A

d) I S
g) i § =r§ g

69. “TRUSG AIEH % WATRR B & 1
"a) TR S fre
by fer =
c) d. e om
d) i Ty
e) ¥ & K

70. i S g W (@ we)”
TaRATHE T

66.

67.

68.

69.

70.

Which facully s not available in the
Indira Kala Sangeet Universily
Khairagarh 7

a) Dance

b) Muslc

¢) Painting

d) Education

€) None of these

(A G R

Out of the fellowlng, which is the
Chhattisgarhi“Pranay geet' (love song) ?

d) Sohar

by Dadaria

¢) Fag

d) Bhojali

8) None of these

Who is the author of the Chhatlisgarhl -

novel “Diyana Ke Anjor 7"

- @) Laknan Lal Gupta

b) Shivshankar Shukla
¢) Banshidhar Pandey
d) Keyur Bhushan

&) None of these

Who Is the writer of the Natak (Drama) *
* “Ram Rajya" ?

a) Thakur Jagmohan Singh ~
b) Shrikant Verma

¢) Pi Malik Ram Trivedi

d) Purushottam Pandey

e) None of thase

Who pérform “Poos Koiang (Poos
Kalanga)" dance in the muria tribe ?

‘Set-A

a) g a) Male

b) et b) Female.

c W &t ¢) Male and Female

d; g d) Chlldren

@) Tl & F ¢) None of these
CaP - 16-01 ¥ Page No. 22

21, ‘b WAEEE? 71. Who perform the “Mandari Dance™?
a) Hia~ ' a) Muria
b) HAR b) Kamar
¢) e ¢) Bhatara
d) 30 d} Oraen
g) T A e) None of these
72, aEmg § wes 70 & fam # T 72. Whose contribution paved he way
JmEm E 1 for development of “Katthak Dance”
a) IR in Chhattisgarh ?
b) <A e a) Raja Kamsen
— b) Raja Ratnadeo
ﬂﬁq’( Py
Z) U“:T“m ﬁ—b’mm ¢) Raja Chakradhar Singh
) 3w d) Raja Kamal Narayan Singh
&) ¥ 4 ) None of these
“73. wEm AR ot ore e # 2 73. Which tribe celebrate the “Sarhul
© . a) Waw Festival” 7
b) FHR a) Oraon
d am b) Kamar
¢) Baiga
q) e d) Gond
e! v AT €) None of these
74. “Sen” S TR SEERA TR ARE T | 74, Which is the scheduled ribe, who
g) fER makes “Catechu” 7 :
- b) 4R a) Binjhwar
¢) BER b) Dhanwar
¥ " ¢) Khatrwar
Z d} Majhwar
; €) v @ A e) None of these
‘g 75, odGTg ) W VI o 7 75. What was the name of ancient’
- a) T language of Chhattisgarh ?
b) s 8) Halbi
b} Awadhi
) et - &) Kosall
d) FETRFIY d) Mahakantriya
o} T ¥ B T e) Nane of these
CGP—-16-01% Page No. 23 Set-A
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76. YR WR U E. AR TR R 7

a) 4m

b) TitE.

€) FgamTien
d) 3

e) TR A o 7

77. oeitemg § R 1y 3 gems

a) TURTH
b) wefiEm
¢) et oRe
d) uda™.
e) T B =5 T

78. wwi w el naifwm wRg d 7

a) <taTal

b) AT -
¢) BImrTg

d) wh

e} 79 3 7 T

@ TG 6 G U T R A g 7

8) Rzan

b) &

¢) Tt

d) W

e) wH ¥R

80. IR T R R IR Fa§ 2012 - 13

{2015 - 16% 04 71 A sy A ol

76.

78.

79.

80.

Which schedule tribe of Chhaﬂi,s'garh
is related to festival of Meghnad ?

a) Balga
b) Gond
- €) Abushmarlya
dy Dorla
e} None of these

The feunder of Kabir Panth in
Chhattisgarh is

a} Charandas

b} Kabirdas

¢} Chudamant Sahab
d) Dharmdas

€) None of these

i
1

!

Which place of Madal is maximum -

famous 7

a) Dantewada
b) Narayanpur
c) Dongargarh
d) Saktl

e) None of these

Which is the most llterary tribe of
Chhattisgarh ?

a) Binfhwar

b) Oraon

¢} Kanwar

d) Bhatara

g} None of these

Chhattisgarh State has achleved the
average annual growth rate In Gross

s o gfe e wmr s State Domestic Product during four
. years of 2012 -1310 2015~ 16
a) 8 wfoww a)- 8 percent
c) 6.35 R ¢) 6.35 percent
d) 7.1 v d) 7.1 percent
e) T ¥ B &) None of thesa
CGP=16-01* Page No. 24 Set-A

MR MR Em

. a4 2015-16 Hon ifRm @ =

Ty T s g R
a) famen
b) TN
¢} 5%
d) T v

e) T § = 7t

82. TR h! W[ R § a1 2015 16

1 far el W A wAEA A ?
8} 2.56 WA »

b} 1.27 wfrd

¢} 2.27 wfww

d) 1.33 7R

e) T @ T T

83, mmﬁmﬁﬁéaﬁmmﬁéﬁ

g e g

a) sl

b) sl H. -
¢) imftmtdm =

d) g
o) 30 A = 7

. i e AR & STle TN S WO
agqawnmq;qﬁuﬁmmﬁmm
aren e # 7

a) 50 wiwm

b} 60 WiewA.

c) 40 wiim

d) 30 whwm

o) T A = 7l

81.

82,

83.

84.

Which pulse has maximum production
in Chhattisgarh In the year 2015 - 16 7
a) Tiwada '
b) Tuar
c) Urad
d). Gram
e) None of these

What is the contribution of animal
husbandry In Gross State Domestic
Product of C.G. at.conslant prices in the
year 2015167

a) 2.56 percent

b} 1.27 percent

¢} 2.27 percent

d) 1.33 percent

e) None of thase

Which crop has the maximum area
under horticulture In Chhattisgarh State 7

d) Frults

b) Vegetables

¢) Medicinal plants
d) Flowers

€). None of these

Whal percentage of grants In aid of cost
Is glven to small and marginal farmers
for drip Irrigation yojana by the Stale ?

a) 50 percent
b) 60 pe;cenl
c) 40 percent
d) 30 percent
€) None of these

CGP~16-01+
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gs. o %ﬁ»ﬁuﬂﬁ-ﬂﬁﬁﬁaﬁ 2015 gz

A,

¥ - T 1 AR
mmEt )

a) 18,18 wiww

1) 31,55 ¥R

¢) 24.17 v

d) 34.66 SRET

e)

v T ariveare 1 el WA
8 qgurmiuﬁﬂﬁamﬂm%?
a)Eﬁ
b) T A
c) TId
d) g .
¢) TR A A W
g7. mgta?lwﬁmimaﬁaﬁﬁm?
g) T 1951 #
p) = 1956 #
c) = 1961 #
d) = 1967 i
e)awimﬁﬁﬁi
ﬁaﬁﬁiﬁmgq\ﬂmmﬁaﬁ{ o
m'ﬁmmmmuﬁﬁﬁ
. g R A R ?
a) 243A
b) 243B
¢) 243C -
d) 243D
g) Tl B
g0, Fren ey T W ¥ P 53
Fum?
a) e 230- -
p) IR 231
¢) oTg=e 232

d):ﬂ';ﬁkESSr
e);dﬁqaﬁﬁa?ﬁqﬂ

as.

What contribution of tax-revenue s
estimated in tota! revenug-receipts of
C.G. inthe year 2015-1617

&) 18.18 percentage

by 31.86 parcentag®

¢) 2417 percentage

d) 34.66 percentage

g) None of these

85.

§6. Which nationalized forest product 1S
gollected in G.G. on support price 7
a) Hama
©) Sal seed:
¢) Lakh
d) Tendu lsaves
e) None of these

g7. in which year Raipur got & status of
Mupicipal Corporation 7
a) Inyear 1851
b In yoar 1956
) Inyear 1961
d) Inyear 1967
¢) Noneof the above

g8, - In which Article, the provisiort of
.reservation of Scheduled Caste and

ERTL )

Scheduled Tribes to Panchaya! has *

tean given ?
a) 243 A
b) 2438
¢) 243C
d) 243D
@) None of these

g89. The tem District Judge Is mentloned

in which of the {ollowing Arlicle of
Constilution 7

a) Article 230

b) Asticle 231

¢} Aicle 232

d) Article 233
- g) None of the above

[
CGP - 16-01%
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et e

a

v

AT A
g0, R awe Fauraw # qeafw 9 F T
g W A 7
a) WiElteg Y W S E
b) G FI TR A Em
c) Torm v ) wapTR 3 e
d) ImdeR Tt
¢) Segw | } = 7

gt TR TR 1 T w & erg e
el
1. St R g TR g 25 @ A
el gl few) .
i, e A e oy 21 wd § w
Cikyi T
iil. ForeeT T T w2 A &, TH TS
- wET §
‘.:iv.ah‘étﬂauﬁiﬁtméﬁmﬁamw
T W R
V'.,ﬂﬁmwﬁmwmﬁtmww
T T I el ¥
a 1 il
wb) ] v
¢) i v
g i v
o) I0gF A 4 =

" g2, AR e i o 9 & e e @

%t &ifim fofg B am 7
a) FATR, WG FS & AT
aradiA
by e S, SR o AT R
fapam 3 31 % sradia
¢) v @ Fwiw R o, T
TR & HgARA & e
d) T G, 3% QWK F I F
kS r i
&) s H & wrs

90. |t budgel is disclosed befare
introducing in the L egislative Assembly,
what will happen ?

a) Counch ol Ministers will have 1o resign
b) Chief Minister will have 1o resign
¢) Finance Minister will have 10 resign
d) Allof the above

e) None of the above

91, What is the quaiification lo contesl the
alection of Municipal Council 7

1. For the office of the President, his

age should not be less than 25 years,

li. Forthe office of he councillor, his
age should not be lessthan 21 years.

ili. Whose name ig in the voter list, he
can contest the election.

iv. A person can cantest the eloction
of councillor from two wards
simultaneously.

v. A person can ¢entest the election
of president and councillor
simultanecusly.

ay ii ii
by i i v
c) i v v
dy i v v

g€) None of the above

g2. i there Is dispute between Panchayal

- and Cantonment Board, who will
decide finally ?

a) Collector, subject 10 appraval of
Divisional Commissioner

b) Divisional Commissioner, subject
to approval of Panchayal and
Rural Development Depariment

¢) Panchayat and Rural Development
Depariment, subject lo approval of
State Government

d) State Governmeni, subjecl lo
approval of Central Government

e) None of ihe above

GGP-16-01%
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Rt
g3, @ue ¥i Rren samd A den # TR 4
st R il Fw @
a) T=uMIe -
b) T I AP
¢) Guviia R
oy vt i foren Pt o
e) Iwg i A F¢ T

94, mﬁﬂwﬁﬂ{%umm%mﬁﬂﬂ%
frm 3o em e ?

i, i ¥ ym%mmmﬁ
#mmﬁﬁu&mmﬁm
g R

i, w3 Y, Prif weel &

maﬁﬂmﬁmwaﬁ
s TRt ) N e @ 1

iil, af uftey TEwa ¥ SRR T
T T 2 A e T F

v, WA TS R SR & o B
R e AT R S 8

v. mﬂn‘e«mﬁﬁm%a@aﬁm
21 W wey F YEfda
O B

vi. @mﬁm@mmﬁﬂﬂﬁ
i W ) 1w #

vii.

o =t w et ¥
a1 iii v
b i Y i
c) i v vii
dy i [\ vii

e)zqﬂﬁﬁﬁﬁgqﬂ

@mﬁﬂmmﬁﬁmr

93.

94,

Who notity the alteratlon In limlits of
Block and Zlla Panchayat ?
a) Govemor
b} State Eiection Commission
()] Bivislonal Commissioner
d) Collector and District Retumning
Cfficer

g8) None-of the above

What Is correct about the racall of
President of Municipal Council ?

i. The procedure of recall may be
Initiated with a proposal signed by

/ members of council.

il. The pracedure of recall may be
initiated with & proposal signed by
V elected members of councl.

lii. 1t the council passed a resolmlon
by majority, coliector will take
action. ‘

v. President may be recalled by
general voters with malorlty

v. President may be recaﬂed by
general voters with 9/ malority.

vi.
inftiated once In his whola term.

vil. The process of recall may be
initiated twice in hls whole term.

a 1l v

B il v vl

g | v vii

d W Iv vil

¢) None ofthe above

The process of racall may be

CGP-16~01=*
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AT RIR
/95- SRR & fren darad A W S
GLLE T H
8) Y SRl ) q T
b) A Frar drdl W e T
_ ¢) T ST W R @
d) T HERR B 350 F

e) sfw oft .

- 96, fierfufen 3 A S S (o, 1. T @

TR o el e i) e el @ 7
a) T~ wofTar . Rery e i
T

.b).g - TRl # fafy w T
. . aﬁallm m — .

o gl - e-t @ e R A

- d) &k - axﬂ'avsm B

o) wa - ﬁm‘g‘ﬂﬁﬂlaﬁamm

97. mﬁt'%ﬁammmﬁ&uﬁzm%mﬁa

95, Whatls comrect aboutthe powers of Zila
panchayats of Scheduled Areas ?

a) To plan minor waler bodies

1) To control over institutions in all
social sectors

g) To control on tribal subplans

d)- To exercise other functions as
conferred by State Govl.

e} Allof the above

96. Wh!ch_of the following pair {tax during
Maratha rule in C.G. and ils meaning)
is not correctly matched ?

a) Takoll — Annual tribute from’ the
zamindars

b) Sair- Tax on the sales of goods

¢) Pandari — Tax collecled from
_non-agrlcullurists

d) Sewai - Amount of pecuniary 1ax
or penalty
¢) Tarat = Tax collected on irrigation

97. Who of the following was the first

welteg % e wem qufted Praff superintendent  appointed in
' ‘ Chhattisgarh it
Fasmm? garh under the British
protectorate over the Bhosla Kingdom
a) T e - of Nagpur ?
b) o, &8 T, g) Captaln Edmund
. b)Y Ma ,
o A € ) Major P, Vans Agnew
s A c) Captain Hunter

3 d) Major Sandis.

e) Rafer &) Wilkinson
"CGP-18-01 ¥ Page No. 29 — o j Sot-A
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g8, Who is not honoured by ‘padmashri
Award in Chhattisgath ?
a) Smt. Teejan Bal
b) Smi. Phooibasan Yadav
¢) Dr. Khoobchand Baghel
d) Dr. mMahadeo Pandey

¢) None of these

99. In u;'hich fiver sugpenslon bridge will be

puilt in Chhattisgarh ?
a) mMahanadi
b} gheanath river
c) Jonk river
d} Aarpa river

€) None of these

100, Whatwas the number of Prime Minister
Jan Dhan Account in rural areas of

Chhatlisgarh i 7™ Dacember 2016 7
a) More than 1 crore 19126 39ihausand
b) More than g0 lasc
c) More than o1 lac 15 thousand
d) More than 91 tac 46 thousand

¢} None of these

Page No. 30

TR

™ w3 forg v

Space for Rough Work i

-

w7
.

cGP—-16-01+

by

- \_\\‘)‘

Page No. 31

Sel-A



THTHERER VNN

INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

AL % 3 R EEne P

(Please use Black Ball Point Pen Only)

1. Method of Marking Answer:
To give an answer, please darken
one bubble oul of the given five, in
the OMBA Answer Sheet against that
question.

2. Valuation Procedure :
There are five answers to a question, .
only one of them is correct / nearly
correct. 02 marks will be awarded for
each correct / neariy correct answer
and 01 mark will be deducted for
each wrong answer. |frnorethanone
bubble are darkened fora question, it
will be treated as wrong answer.

3. Handing over of Answer Sheet to
Invigilator: ’
(i} Please ensure thal all the enfries in
the answer sheet are filled up
properly i.e. Name, Roll No.,
Signature, Question Beoklet No. elc.

(ii) Before the limitation of 2 Hours
duration while leaving the
examination hall, hand over the
question paper to the invigilator. It
needad, afier duration of peried,
you can ask for your question
paper from the Centre
Superintendent.

4. CareinHandling the Answer Sheet:
While using answer sheel adequate

care should be taken about tear or
spoil due lo folds or wrinkles.
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MODEL ANSWER

SUBIECT - (01) GENERAL STUDIE SET-A

Q.N, Ans, Q.N. Ans. Q.N. Ans. QN Ans.
1 c 26 8 51 ) 7 8
2 B 27 B 52 8 7 ¢
3 c 28 b 53 B 78 B
1 A 29 c 54 c 79 8
5 A 30 g 55 D 80 c
3 D 31 ¢ 56 E a1 D

7 8 32 B 57 D 82 D
) B 33 B 58 A 83 B

9 8 34 A 59 A 84 ]
10 E 35 A 60 B 85 £
11 D 26 A 61 ¢ 86 D
12 D 37 D 62 € i L
13 c 38 A 63 c 88 D
12 E 39 A &4 c 89 D
15 E .40 B 65 B 50 C
15 c 41 A 66 D 91 B
17 c 42 A 67 B 92 D
18 A 43 A 68 8 » A
19 A 44 A- &9 c 94 B
20 e 45 c 70 A 95 E
21 E 46 A 71 A 96 g
22 B 47 A 72 ¢ 97 A
PR 0 48 A 7 A 98 <
24 c 49 c 74 c 99 A
;25' o 50 A 75 ¢ 100 B
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

Tyt & I 2 et Tdm

(Please use Black Ball Point Pen Only)

I Method of Marking Answer :
To give an answey, please darken
one bubble out of the given five, in
the OMAR Answer Sheel against that
question,

Valuation Procedure :

There are five answers lo a question,
only one of them is correcl/nearly
correct. 02 marks will be awarded for
cach correctnearly correcl answer
and 01 mark will be deducled for
each wrong answer. If more thanone
bubble are darkened for a question, it
will be treated as wrong answer,

Handing over of Answer Sheet to
Invigilator;

(i) Please ensure thal all the enlries in
'he Answer Sheel are filled, up
properly i.e. Name, Rofl No.,
Signature, Question Booklet No.
elc. -

(i) Before the limitalion of 2 Hours
duralion while leaving the
examinalion hall, hand over the
question paper lo the invigilator. If
needed, after duration of period,
you can ask for your gueslion
paper from the Centre
Superintendenl.
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1. This question paper has 100 questions. Each question carries 2 marks.

2, Read carefully instructions regarding method of answering queslions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use ofany type of calculator or log table and Mobile Phone is prohibiled.
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In view of the increasing demand ffom.the

Read the given passage and answer the
questions that follow :

tnnovative Textilas Pvt..Ltd., run by two
brothers Krishna and Rajan, is a Raipur
based Chattisgharl Sllk Garment axport
company. It was set up-in 2001 by Krishria,
who has a desp knowledge of designing and
manufacturing silk garments. Rajan joined the

~ companyin 2010 after complating his M.B.A,

Krishna was responsible for designing and

* production of the -garments and Rajan for

sales and lialsoning. with the foreign
importers. Personnel managemgnt, howaver,
was [ointly looked after by them. Since the
inception of the company, Krishna had
worked very hard to ensure lts growth. He
rewarded his committed workers and had
aven friendly relations with many such
workers, Howaver, he was intolerant to any
carelessness, demand for salary hike or
bonus dsmand; and would take no time In
firing such-workers even if they happeried to
be vary expert and committed ones. Rajan,
on the -contrary, would never befrlend -his

employees but would give them their due. Fie -
would attentively listen to their suggestions,

demands and even criticism. He belleves i
setting high goais for hls employees ang
gstting them accomplished by rewarding a

motivating them. . o

Importers, Rajan wanted to reemploy many
expert weavers fired by Krishna as to Increase

produciion and ensure quality, but it was a -

very teugh task to convince Krishna. Though
Krishna somehow agreed to take them back,
yet he could not digest the move. He would
often express his feelings by speaking
sarcastically, bumping his hand on table,
raising his eyebrows or. getting sulk, which
gradually made the atmosphere qulte tenss
for the partners as well workers finally
resulting in poor production. Rajan starls

"CGP_16-02+
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pi;ndering over whether to continue with’

" Krishna or to part with him, and set up a new

company. Howevar, in view of Krishna's
expe%isg in the field of garments as wel[l as
his contribution to the company, Rajan
dacldes to take a chance and negatiate a deal
with Krishna. Accordingly, both of them
decide to have fifty percent share each and
Krishna is made in charge of designing and
quality control. For production and personnel
management -they appoint a ieam ol
managers led by Vivek, an experienced

. M.B.A. Rajan confines himself lo sales and

lialsoning. Krishna feels satisfied with the
deal, so does Rajan. The workers, ynder the
léadership of Vivek, start working as a

" motivated and result oriented team, Why not

s0, apart from a cengenial atmosphere now
they have been assured performance cum
profit based incentive in addition to their

salary,

1. An employer with good interpersonal
skills has relations with
his employees.

a) Family

b} Very intimate

¢} Professional

d) Unfriendly

@} None of the above

2. It you were Krishna, how would you

2M-qﬁmm Wmaﬁ e ¥ ;ﬂ:ﬂﬂﬁ react to your employees’ carelessness
. : il it o ™ or salary/bonus hike 7
A S a) Flre them immediately
B) T et 1 g B T AL b) Owverlaok their care!ezsness and
TR W] leome their demands
AR T o o we
" - " c) Take no actlon
AL i d) Take any actlon after looking Into
d) R e A wwe W R R Fofr < _ the matter with apen mind
L ,{ﬁ' e) Nons of the above
9)
. ] Set-A
CGP-16—-02+» Page No. 5 N
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3. TA FRAEET WY NS R e Bl
a) Yom
b YRR/ ¥
¢} TRt
d) IwEd W
g) TR § W 7

4, s st Y s = s 3 s
WEAFAR AR oy R
a) =MEHIAR gREH0
b) SRR g
c) W@fgﬁﬁ“‘l
d) fimezm fEFm
o) Fultyd W g T

5, P i & arcees et 3 arhTa
st
a) Hmaﬁw
b) g
c) fiofa o
d) T WEE
g) F9Uad § wid Tl

6. =i A 9N vors qRERE SwE W
, SRR 7

. We can achieve work targets by

a) Motivation

b) Reward/punishment
c] Monitoring

d) All of the above

¢) None of the above

Rajan’s habit of not bafriending his
amployees but giving them thelr due Is

a) Prolessional approach
b) Unprofessional approach
¢) Whimsical approach

d} Rude approach

8) None of the above

. Which of the following does not fall =

under interpersonal skllls ?
a) ‘Non-verbal communication’.
b} Listening skills
¢) Dacision making
d) Problem soiviﬁg

g) None of the above

. Who of the Jollowing demonstrates ©

excellent interparsonal skills 2

a) wHERl a) Workers
b} T b) Krishna
¢} e c) Rajan
d) Il it - d) All of the above
6) Syl # w5 T &) None of the above
CGP =16~ 02w, Page No. 6 Set-A
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a) 34 i
B) 36 o2
. T
c) 38 - 3‘%.
. P v wt
9 40 Y
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@ 4 o e w ), D PR A

7. The missing number in the loliowing
table is
2 |16 {17

32 (28|23
3Bi{37|?

a) 34
b) 36
c) 38
d) 40
e) None of these

8. The lime by my waich is quarler pas
twalve. If the hour hand points 1o the

T ER it gast what is the direction ppposile lo
PR K | . the minute hand ?
’ a) I e e A
VI et “{r a) North
b) b) West
o) 2fEm ¢) Soulh
) TRor- e d) South-West
o) THE i p) None of these
.9, ﬁqﬁ{ﬁaﬂé\vﬁﬁﬁqm% g. The missing humber in the following
2 '|11' 5 series is
1\ 224, 64,186
2) 27 1,2,4,9, ,64, 186
by 25 a) 27
b) 25
c) 23
c) 23
d 2t 8 21
o) FH A T T o) None of these
CGP-16-02« Page No.7 Sel-A
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a) 1042 .
b) 12 .
c) 13 L.
d) 14,

e) v O FiE T

5 3, $NCAR R F T 3 wawt

10. Aladder 10-mlongis placed in a streel

and reaches a window 8 m high of a
house keeping the foot of the ladder in
the same position, the ladder is turned
and reaches the window 8 m high on
an opposite house. The breadth of the
streelis

a) 1042 m

b) 12m

c} 13m

d) 14m

e} None of these

Page No. 8

i 11. -Allthe six faces of a cube of adge 5 cm
o o1 T fom wn 8 el g 3@ 125 have been painted red and then itis cut
<ortd o A e R e 21 B G AR Into 125 unit cubes. The numbser of

s v v 2 cubss having colourless faces is
a) 27
al 27
by 54 by S4
¢) 36 c) 36
d) 8 d) 8
e) ¥ & =i 5 ¢) None of these
12, wA HEm 11 % gl ¥ I 5wl A 12. With Ihe data of Q. No. 11, the number N
He, fr! e & werR M E, 3 of unit cubes having only one face
coloired is
a} 27
o) 54 o) &1
) a6 b} 54
Z’ c) 36
e 98
¢) T A A e) None of these
CGP—16-02+ _Set-A

AT

Jofte 3 13. In an examination 80% of the
13. @mﬁ 80% el a?fltﬁgq, candidates passed in English, 70% in
70% 7t # weg 10% T A Faed & Maths but 10% falled in both these
gl g AR 144 AR -3t foreel subjects. If 144 candidates passed in
3 wefol g, W mheentt A g Hen A both thase subjécts, the total number
a) 420 of candidates was
a) 420
b) 240
c; 402 b} 240
o) 402
d) 204 d) 204
€) A FET @) None of these
14, Bt g # g dend § 44. The missing numbers in the following
SR g7 sequence 2,3,5,7, .. 17are
a} 9,13 a} 9,13
by 11,13~ b) 11,13
) 13,15 0) 13,15
d 11,15 d) 11,18
@) FHARE T e} None of these
15. PR 15. The missing number In the following
Y EX] ES-. 16, _qavend sequence 1,2,3,1,4,9,1,18,_Is
sy oy LTy Ty TU —
a6 a) 36
b) 49 b} 49
c} 64 c) 64
] 81 d) 81
e) T & P e} None of these
16. Frdl Vi3 % TR 7 IEGASEIA, B ‘ 16. Seven persons are sitling at a dining
ramAmtAfcF RO F R table. A is facing B who is to the left of
Ao EXSRATNFRD Faida R Candrightof D. Cistotheleft of E. Fis
E mln G m gt ﬁéﬁﬁ oew o 8 totheleft of D. If £ and G exchange their
feufyat .seats and D and B also exchangs their’
?;lzﬁ%ﬁ% ? T soats, then who is sitting to the left of E7
a) A ) a) A
' b) B b B
g C ¢ C
D
90 5 N { thase
o) T AT o} None ¢
céP ~16-02w . Page No. & Set-A
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17. g68.. 768 vi
F1 4 R v R s g | faww @ 17, 9%8-7%8 jsdivided by 4. The remainder s
. ay 3 a3
) by 2 b) 2
» 01 ¢} 1
d) 0
d o
) |
) T A N T a) None of these
18, '
8 -%:2; o -; ?r?;?:g forelt mﬁm | a"[ ¥ 18. Mush, Kush and Bush each took part
Ll 60 Hq 24 Fwa In twotests In some examinatlon. Mush
R %tz_ﬁ 40 % 32 3iF wig Fog w3 got 24 marks out of 60 In tha first tast
A 700 35 7N 60 F Y 54 3= and 32 out of 40 in the second test. Kush
e B 'g?l_‘-‘u A% d 007 27 am _got 35 marks out of 70 and 54 out of 60
59 39 45 a5 w1 oy R in the two tests. Bush got 27 out of 90
5% Y e an;i :5 out of 50 In the two tests. Who
gat the maximum marks ?
a
b; ;‘:T a) Mush
830 b) Kush
SO ¢} Bush
o -:‘I:Tﬁ ﬁ?_gﬁ i d) Mush and Bush both
8} None of these
19. 15 Teisti <t miitham 38 21 wh e
17 18, Median of 15 nufbers i
2 53 3 e o ( umbers is 38. Anumber
1| "y 17 is replaced by 33. The median
a) 16 Q =g St a) Will lncrease by 16
by 8 g =% e b) Will increase by 8
;; ;ﬂ | :;n i) ¢) Will increase by 1
o e aﬁg i .d} Will remaln the same
_ : &) None of these
20, ﬁ:ﬂﬁiﬁﬂﬂ'@laﬂa Wﬁﬁ%ﬁn R 20, Fln‘d the odd one out {If any) from thé
R g Yot r following :
TS, FH T T Oxygen, Nitrogen, Hydrogan-peroxids,
) SIS Hydrogen, Carbon dioxide
5 RS @ A a) Hydrogen
. L] b} Nitrogen
0 wﬁ@m W}"armg - ¢} Hydrogen-peroxide
: Fﬁﬂ%:;;mﬁg d} Carbon dioxide
) LG &) None of these
CGP-16-02« i ’
P
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Find the odd ona out (if any) from the

- o
1 -

L T G BRI

R N

TLL A NG R

o1, Timfafee i § a0 R Bg 2y F o : 21, o
o oflowing :
i s, el RS, 0 (7Y b Nitric acid, Sulphuric acid. Mercury,
A e, L Hydrochloric acid, Water
A I v a) Mercury
b) T S b) Hydrochloric acid
c} Ht c} Water
d) i e d) Nitric acid
o) T A =l e} None of these
20, Brefftan 1 = dew e § 9 BT R 22, |dentify the number which is different
Lol . "I ' . N
' lB'HS,.BBS, 579, 696, 398 & trom others in the following
876, 885, 579, 696, 388
a) 579 uul
LA~ a} 579
.y by 876 Ul N
! GRA N b) 878
c) 885 b Q\ Y
A ;-,us/ ;} c) B&5
d) 3g8 oy
P T i d) 398
o) il F L W ik / ¢) None of these
23, Tl wied! @1 R % SFIZAR 23. Arrange the following words
fafiay | according to the dictionary patlern.
i i ~ ‘ , .
3' '\-'7 R » nutant, nescience, nutrient, nevlral,
. nutant, nescience, nutrient, neutral, .
- - - negoliate
nggollate @
- ) a} nutant, neutral, negotiate,
a) nutant, neutral, negotiate, . .
- . nescience, nutrient
nesclence, nutrient
b) nutant, neutral, nuirient,
b) nutant, neutral, nutrlent, . .
. : nescience, nsgotiate
nesclence, negotiate
¢} nescience, negotlate, nutant, c) nes?lence,negohate. nutant,
. _Mutrient, neutral
nutrient, neutral
d) neutral, nescience, nulrient, autant, d) neutral, nesmlence, nuliient,
nagptiata nutant, negoliate
o) TR = g) none of these e
CGP - 16-02w Page No. 11 Set-A
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name i q. — Fa WJ&W@

WD EEHE

24, Ffl |z w1 & 'her idea has merit' B 24. Inacodelanguage "her idea has merit o8, i A et wdt B [t el o @& 28. How many times in ad“f" l‘he handslof
'fa lu boo ma' for@ 9w 2, ‘menit list is written as 'fa tu boo ma’, 'merit list i g 3 7 S v T & o frdm Ram § a clock one straight, painting opposite
nas been shown' 3 ‘go he lu ki ja’ 7 + has been shQWn' Is written as ‘go he lu aAE? " each other ?

‘name in merit list % 'pa ya kho he" ki ja', ‘name in merit list' is written as 20
fora s 2 | ‘pa ya kho he'. a) 20, N
he' B Reg a2 7 What daes ‘he’ stand for ? by 12 b) 12
a) idea a) idea c) 24 c) 24
b) merit b} merit d) 22 d) 22
w1 list c} list o) T A B 7 €) None of these
d) name d) name .
e) T A # €) none of these 29w A 270 f 7 fam Fo M 20, Aman covers 270 km partly by bus and
= = - ‘ nge MmO T@ | | 1
25. ;rfies;iz_z,sxhs.sxa_oa‘c 25. 116x7=2,3%5=55x8=0, then R gﬁ: partly by car. If he covers o of the
= Tx5=7 :
a5 | 35 ) R e g 1 9T 30 fop.mt. /4. it =T distance by bus at 30 1;?/2 a;;]d me
b 4 - : i speed of the car was m @
) 3 b) 4 _ L 0§ A ¥ ol TR H 1 45 average speed for the whole journey
o ‘ ) 3 fp xfy. /. 2, &t ot ww < ofvwT I 2 was
d) 0 @0 .
e) TH B PR 3 i 3
,_\ ) ¥ A ) None of these - 8) 393ﬁ_rﬂ,/t|,_ a) 39-5 km/h
{ 26. TR A R 7
(28 2 o 26. Furniture : Table : : Statlonery : 7 i km/h
a) ;I:;{fﬁ'ﬂ a) Office | }b) 40 fa;qu- b) 40
b) FHl - b) Chair . T 4 : 4
) LiE: c) Pencil ¢} 38;%.’“./‘[. 0 387 kmMh
d) = d} Roomn
1 : 1
&) T & F¢ T ¢) Nona of these o 375 e /4. 9 37 km
27. Pericraa i a1efqef én & syaffn St ; 27. Armangs the fol[owmg Ina meaningful AT
i T order: e} T &) None of these
i, yrtem . Plan os 258 B, then B
it. Rovise 30. fA, BR 25% ANFFIRNL, AB, AR 30. If A earhs 25% more than B, then E
. g& fii. PuEIish %% FHFAAE | X FAR ' oams x% less than A. The value of x is
i i . -
iv. Think ﬂ) 25 B.) 25
v. forer v. Write b) 20
a) v, iv, i, &, i R wh) 20 )
AT a) v, iv, i, i, i
b) i, i, i, iv, v B) i, i, iil, v, v . c} 15 ¢) 15
o) v, i, v, ii, i &) v, 4, v, 1L il d 10 d 10
d) i, i, ifi, v, v dy i, i, iii, v, v Mone of these
. o) il & Wi o
o) 3 R =i 7 e) None of these ) ¥
—— - t-A
CGP - 16~ 02w Page No, 12 Page No. 13 Se
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IfAB 34305600 73

31. aRA:B=3:4,B:C=5:6,C:D=7:8 31.
HA:-D2 thenA:Dls A i .
a) 6435 a) 64:35 'woora of
by 3:5 b) 3:8 !
c) 8:3 c) §:3 _‘_w-".f_{o b
d) 35:64~ d) 35:64 '
6) ¥ § ) Nons of these
32. wR10TEIHAIMag20ad, 4 21 32. if outof 10 students 3 were of 20 years
ﬂﬁmSﬁzzaﬂm?ﬁ%ﬂaﬁHﬁmg age, 4 of 21 years and 3 of 22 years,
a) 20 af . L0 N the average age of these Is
. N -
by 22 7§ ,5+-‘;,}\ z (\,E 0 ] a} 20 years
WP N b) 22 years
s Aara L B c) 21 years
v d) 19 =4
g d) 19 years
e) T 6) None of these
33 TRU Y=ol wuaeie; z, xwrafy 33. IfUls the spouse of Y, Z is the spouse
A TAE; X yamE; 8, T @ ot X, Xand Y are sisters, S s the wife
w2, X, TE 2 CRTH giﬂ% : of T, X Is the mother of T, R is the
W, YR A2 qm P,y Rt | R dalughter of T, W is daughter of Y and
R 7 :fl:i t:e father of Y. Who is the mother
asv a) §
by T b) T
c Y oy
d) X
cd) X
o) T @ ’
) i e ¢) Nong of these
34. WA UG 33 F F Wi
e A3 ¥, X A B 34.x With the data of Q, No. 33, who Is grand
-\ daughterof X ?
a) § a) 8
b} R~
)z x b) R
I
. dy U
o‘- - "'L
e) ¥ T =i \ "‘L e) None of these
CGP-16—02w - Pagn No 13‘{ - ! Set-A
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\«5"

R

ra
r

LY

T4fed mA D, B ¥ ummE 3 faal W

e st 36 ¥ 30 7 Iw AR L

(RN

95, YA TSN B FH S FEOUFR UF
wrd
aPVv
B Y
c)w
29T
o) T B = el

v (W 36 -39):

ot oM d@a A B, G, DIE
freferitan w4 R -
AD¥18M @i LB EFMA

q,A%zi‘mifzﬁsm.qt%t

35, EABAfA wD?

35. With the data of Q. No. 33, who is
father-in-law of U ?

a) P
by Y
cy W
dy T
@) None of these

Directions (Questions 36 — 39) :

It is given that live cinerna halls A, &, C, D
and E are situated in the following manner :

Ais 1km, toeastof D.Bis4 km. scuthlo E.
Dis 3 km. wesl lo B. G is 2 km soulh 1o A,

Answer the following questions 36 10 39

36. How many km. away is D from E 7

a) 2 e a) 2
B) 8 UL b) 3
c) 4 @ c) 4
d; 5 CLAN d; 5
e) ?Hﬁ A 78 T C @) None of these
37 mﬁmﬁﬁmﬁa@ﬁﬁﬁﬁ 7 A7. Which three cinema halls are in the
2) A DT E same line 7
' ay A,Dand E
b) B,CTNE b B, Cand €
c) A, B 1D ¢) A Band D
d). A, BwrcC d) A,Band C
o) T W PR T ¢) None of thase
38, @'@ﬁﬁﬁ{ﬁ@ﬁ?ﬁqfﬁﬂmﬁaﬁ, He § 38. Of the three cinema halls lying in a
Eack & straight line which one is in Ihe middle ?
a) B a) B
b A h) A
¢} D ¢ D
c,i). C d C
of v A mE g) None of these
CGR=16-02u Sel-A
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39, Tl A i e E ? 39. Which of the two distances are equal ? Ram has a rectangular plot which has
a) AB 3 AC a) AB and AC qual? 43. TH & TR @ Hlﬂﬂ'*“%“"‘u‘? ﬁ{? 9 been fenced with% 300 m long wire.
300 th, R3 AR Y A Y, A% T, i h and the breadth of the
b} AB9 AD b) AB and AD AR R # w=E @ Find the lergth an read
c) BCFCD /"?ﬁ“ it @ ﬁTﬂ W plot it the length is twice ils width.
¢ 9 ¢) BC e
& A @ ) BC and CD S a) L=24m,B=12m
) AB@CD d) AB and CD g) L=247,B=12 1. b L= 100m, B=50m
&) ¥ 8 A 7o e) None of th b) L=100 ., B =50 T n o
ese } L=100 XL, .
' - ) L=20m,B=10m
40. w1 wfi e aEma o 40. Statement f : All apples are L= 2'2::32 :: d) L=60m, B=30m
TR 2 W A AR pineapples. dy L=60H.,B= . o
rewd Statement 2 ; All pineapples are g} i & = T g} None of these
. grapes. . P ' i
| et S N gir Conclusion : 44, 60 72w T i n I W T8 44, A 80 pages book has n Imesdper gabges.
I wfi g A E | ). All grapes are pineapples. : 1 RiEG R T s RA TR If the number of lines were re ut:t-}b 1)'0
Rt i ¥R madi? Il. Al apples are grapes. et 1 wen 10 7 s 3, 7@ nFTR then the nuTbgrof paat_lqtiz go up by 10.
) : : i
a) Faw ladd Which of the following is correct ? am The value of nis &g
M 2 Oty 1 alow o 20 e
c) @ri 191l uet & WS by 22
"c) Both )
o) 31 MR 1w R 33 Ngllh:a??g;!rfl?lrlglﬁvs ¢) 31 ¢) 31
e} v 4 &) None of these -d) 12 d) 12
41. v Rrathidl iz, R, wim, g, | 41, Five students Mahendra, Jitendra, o wHAT 8) Nona of these
T3 3 et @1 A s = Dharmendra; Surendra, Nasendra Co '
A ved At v & %g:‘,]'q%aa; participated in" a race.-Mahend;a 45, dm¥um 18 e FE }, R 45. Seema has 18 meters of cloth. She
NN U o AR 2 1 R 1 g completed the race before Jilendra but @ T Fen e 2 fr o g g wanls to cut it in wo pieces in such a
3 firez 7 % AT A T ¥ e A gl after Diarmendra, Surendra compleled FRY 47 AP R, A IR R D way that one piece will be 4 meter
H 1w 3 wH TR § It\?;er:cﬁ': after Jitendra but before- ' Wgw 2 7 ' ) longer than the other. Whal will be the
: el . 206 7
o WRaAm W "I the first position and the last position a) 7. length of tha shortef piace
b) ez 7 = - are respectivély orh a) 7 meters
¢) W% T Fox ?““\ ] a) Dharmendra and Narendra b; ath. b) 9meters
j b) Narendra and Dharmendra c} 2% c) 2maters
dy o3 7 R & ¢) Mahendra and Narendra d) 8. . d) 8meters.
. e) Tl & = d) Dharmendra and Jitendra o) ¥ & Frd el o) Nona of these
“= : e] None of thesse ' ’ i
9 ' ' ‘ . 46. Iif the cost of three apples and five
a2} Frafafan 37 & we wE w aeg 42, Which letter will replace ‘7' in the 48. mmﬁﬂﬁqﬁmm?.;.;ag g mangoes Is Rs. 18 and that of live
HATCHL yo 45 following ? T A d ST AT 14, apples and 3 mangoes Is Rs. 14, then
A?FJOUSB ATFJOUB ¥t 1 ¥ Fr the cost of five apples Is equal to
a) B a). B a) %5 a) Rs. 5
b) C b) C B) & 10 . b) Rs. 10
ey D c) D %4 ¢) Rs. 4
dy E d E d) 3.8 d) Rs. 6
e) T & 3 e i : &) Nona of thase
) el &) None of these e) 7 A B T vy
, CGP~16~02~ . Page No. 16 Set-A CGP — 16— 02+ Page No. 17
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O R
47. froerfefes § qw den &

\t:,",';.{’ a) 15
N by 17 \\01\9
<4
) 19 N
f',? f‘.
e d n R o/t
Sy WY e) it A . “r;v";
o
) 48l P 5 g 0
T R DT F AP A 14 5w o
Ta} <t Gt ol ro
. AT
a) 5 ‘ '
d v
h b) 7 O/
K \}' q?r-)\,f
d 14 ~
e} ¥ A w7

49. @ Tl W 1 R, 1970 F gan
ot oy R v | TR v

47. The missing number in the following

a) 15
b) 17
¢} 19
d 1
) None of thess

48. In a group of cows and hens, the
number of legs was 14 more than the
twice of the number of heads. The
number of cows was

a s
by 7
c) 10
d) 14

¢} None of these

49. A girl was born on September 1, 1870
which happenad to be Tuesday. The

Avma next birthday will be Tuesday in the
ear
a) 19754 ¢
b) 1e77 Y e
b) 1977
c) 1981 % c} 1981
dy 1
) ga?ﬁ d) 1982
e} 70 9 w1 T @) None of these
CGP-16-02 [
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AL & y23 09
S Ao (> co0o?
. ‘/:;.,.l.' obb\ %‘r‘l. ’ .
o o p o
k> & et .
FAl -.l}\’\“_?;\ 1~

GG
v wE 50 i 51 % frd Fdm

s 5 Raeli A T T S A Fe

.'{-rrrl?lfz,S0,0DDﬁ | s WIS, oW, wfE

T, P 3R ForTell T STl et e
= ) B e o 3 seffa Bemmm 2

50. ¥ 79 fer & e e e e

Direction regarding Q. No. 50 and 51.

The tolal cos! of producing plastic toys is
¥ 2,50,000. The production cost on iaw
material, labour, repairing of machines,
advertisement and electriclty s shown by
the tollowing Pie-chart.

Labour

Haw Malarial

50. On the basis of this Pie-charl the ¢os!
on sleciricity is

- @).312,500 v a) T 12,500
b) ¥ 25,000 b)- ¥ 25,000
¢) 15,000 ¢ T15,000
d} ¥ 18,000 d} ¥ 18,000
o) 37 & & el &) Nene of these
51, Frgma W IwTE wvE WA $ A W 5i. How much the production cosl on
R A fFafi g 7 ’ advertisement is less than that on
repairing of machines ?
a) ¥ 25,000 a) 2 25,000
b) ¥ 37,500 by 737,500
¢) ¥10,000 c) 110,000
1 712,500 d) T12,500
g) i A P T @) None of these
CGP-16-02+ Page No. 19 . | 1 -~ set-A_
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52 X WRTEY Y, vERmiXZR | 52

o L ormiwfzy AR LV, WS
oL R, Y 3 R e 27
a) e {32 s
b} g
IREL

Cdy P
e) T 8 T

53. 54 qd, gt 3l 3w w1 R g P 53.
40 7d oft | TduA-H A Y A
1:4% 1 gt ol omg R R 7
a) 3879
b) 42 =d
c) 434
d) 36 =d
e} 7 & =1 7

54, mﬁv'COMPHEHENSION' F wem R 54

et F were e s 2 wen i afm
i e e Ry & it ae e 9= g
et ) ver W A Ry sman 2, @t gt
ney  F W ALK g ? :

ay N

b) S

c) E.

dy O

e) T T g 7l

5. Fafafem 3 ‘P % AR B WA 55,
e ¢

X is sister of W. Y Is father of V. Xis
daughter of Z who Is marmied to Y, V is
brother of W. How Is W related to ¥ 7

a) Data Inadequate

b} Son

c} Daughter

d) Son or daughter

@) None of these

5§ years ago, the comblned age of
Suresh and his mother was 40 years.
Now the ratio of their ages is 1 : 4. How
old is the mother of Suresh ?

a} 3B years

b} 42 years

c} 43 years -
d) 36 years

&) None of these

. First three letters of-the word

"‘COMPREHENSI{ON' are reversed and
then last three letters are added and
then the remalning letters are reversed
and added, then which letter will be
exactly in the middie ?

a) N

b) S

cl E

d 0

€)- None of these

Which letter will appear In place of '?"
in the following ?

D,F 1,2, NP D,FLTNP

2) J 8) J

b) K b K

c)L oL

d) M d) M

e) i & = Al 8) None of these
CRP-16-02« Page No. 20
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56, ﬁnﬁmﬁﬂﬁmm@.mm%

57.

st A R R 7
H.F. A NEK
a)F

b E

c) K

d A

g) T & <8 T

413 s ot Im R R

Pt ; Tvem (95 Y- 2)

o P T 7w A Ry R g e
Erokd

) Eﬁm:ﬂiﬁ,m:é@?};’

o ﬁ_:m,ﬂ;ﬁ‘:aﬁé. ﬂi\: ﬁ?ﬂ:if[
aagmviﬁﬂ.(uﬁﬂﬁ)a’tf#mgm%
SR WA WY e 2

a) wiw : Fl

b) ITW ; AEH
w0) 0 fm

d) g : g

- gy 3l A FE

iyt (574 58 - 60) :

£ 3 e ol il svr-awm F R E |
W, Y Yl @3 1er, WA S ad
o & 1o, TR TE e o & (g, v
A7 o 1w, T AR T TAR

56, fiiies § 2R @ v T 9 A T

s w7
a) ¥, Ya, T, ), ig
by g, T, Yo, @, W
c) ﬂﬁ' :t@r“@-:ﬂ.m
d) Yo, 1, e, veh, g
o) T & HE T '

56, Which one of the following figures is

57.

ditferent from others in accardance with
some rule ?

H,F, A N EK

a F

b) E

¢ K

d} A

e) None of these
Below Is given a related pair of words |
Director ; Film (This is question pair)

The above pair-is {ollowed by the
palrs given below

poem : Poet, Novel : Writer,
Editor : Magazine, Chair : Carpenter,
Wheat : Fammer.

Choose the pair (if any) that best
expresses the relationship simitar to
the question palr.

- @) Poem: Poet

b) Novel : Writer
¢) Wheat: Farmer

dj Chalr: Carpenter
@) None of these

Directlon {Que. 58 ~ 60}

ftis given that all the gils are of the differant
ages and Renu Is one year oldar than
Rekha. Rehana fs two years younger o
Renu. Rakhl is ohe year younger o
Rohana, Ritu Is two years younger than
Rakhl. Rekha ls two years older than
Rakhi. '

58. Which of the following is the order from

the youngest to the oldest ? ‘
a) Reny, Rekha, Rehana, Rakhi, Ritu
b) Ritu, Rakhi, Rehana, Rekha, Renu
©) Ritt, Rekha, Rakhi, Renu, Aehana
d) RAehana, Reny, Bekha, Rakhi, Ritu

e) Nane of these

CGP-16-02«
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49, Y @ TEh R @I I
| R e

i, e = e o W 3w F )

111, Y 3 Im g R
2) ¥ | E |

b) e T )

o) ¥ il e

dy 1allmady

) Tl § W =

60. TE aiK Weh T, T wsiEl % W
e B a1 3 99, O o,
sraasiedl ¥ fimrd | e I S R
Frexfifias T 3 A o o T 7

1w, ﬁﬁfﬂa’aﬁtwmﬁmﬁm
kel

I, s, t@'ﬁ%@amﬁgﬁa@%!
. 5fy, TR oW qon wat @ T Y
Iv. &f, T A O s A Td Y

a) Faerll
b) weetlll
c) Fas v
d) ¥
g) T & B A

61. W 6% 1 Wit TR §U, Fewt wleww 3

59. The combined age of Renu and Rakhi is
|. Anodd number,
II. Equal to the combined age of
Rekha and Rehana.
fll. Twice the age of Rekha.
a) Onlylistrue
b} Onlyiiistrue
¢} Cnlylllistrue
dy and H are true
@) None of these
80. One more girl Rughl joins the group of

5 girls. Her age, in complete years is
ditferent from olher glris. Which of the

following statements about her age '

could be true ?

. Ruchi Is younger than Renu but

older than Rekha.

Ruchi Is younger than Rakhi but

older than Ritu.

Ruchils younger than Rehana and

older than Rakhi.

V. Ruchl Is younger than Rakhl and
older than Renu.

a) Onlylt

b) OnlylH

¢} Only IV

d} Only!

&) None of these

61, Introducing a man, a woman said, “his

7 v e s R T w father-In-law's father is my father-in-
ey, Wi & e R B @ 7 law.” How the man Is related to the
woman 7
a) SR o
o) a) Son-in-law
i b} Son
3 a ¢} Mother
i ) d) Mother-in-law
o) ¥l 8 H A e) None of these
© CGP~16- 02 Page No. 22 Set-ﬁ

G R AT

i (977 62 - B6)

ﬁnﬁfﬁﬂmﬁwamﬁwﬂ%m
A ;
(. o =T s e 23 = E, FL G,
H, 14 KanLmwRad3ifs
mmﬁﬂwﬁil
i, i wien v E am A Qﬁ{{f{%
© apE-aE T R E
W J,La P& SRR
. GIFTFEFRTERL
v. J%aﬁa?ﬁw‘(mmnﬁamaa%l
vi, e T E ¥ ArE T ue F
- AR

vil., F iR ¥ e Y wwafrmadiy |
62. ﬁqﬁﬁaﬁﬂﬁwﬁmm‘ﬁ?

e
a) E Haltd :
by E, GailtJ )
¢) G, Hald ! ]
@ F,G 3 1 & F
&) T AR
63. JHFmi feRfmidnmead?
a) J O Wike weE R
b} J T Y HEEI B
¢) o <1 R frerfoor =t fobemn = weren
d) J S el el v <t o ot

H

Direction (Question 62 — 66}

Study the following informations (o answer lhe
questions given below !

i, EightpersonsE, F,G,H.1.J,Kand
L are sealed around a square
table, wo on each side.

i. There are ihree lady members and
they are not seated next lo each
olher.

iii. Jis between L and F.
iv. GisbetweenlandF.

v, H, alady member, is second to the
left of J.

vi. F, a male member is seated
opposile to E, a lady member,

vii. There is a lady between F and L.

62. Who among the fotlowing are ihe lady
members ?

a) E,HandJ
b) E, GandJ
¢) G,HandJ
d) F,GandJ
e} None of these

63. Which of the following is true about J 7
a) J is lemale member
b) Jis a male member
¢) Sexof J cannot be determined
d) Position of J cannot be determined

£
o AR €) None of these
8. e 72 EWH%T—#‘]%@%? 84. Who among the lollowing is sealed
a} G between E and H 7
by J a) G
b) J
o F cy F
d) K d} K
e) ¥ & B T @) None of these
CGP-16-02« Set-A
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85 PofoReaid FSdFa iy ? 65,
a |
b) J
¢) L
d) T T o sEem
e) 70 & = Te

86, KefnF¥dofamafsddd? 6.
a) 1
b) 2
c) 3
d) 7 = o = wea
e) T & = T

67. wafimo T 300+ /4.3 | Fedtwm | 67
7 0 S 3w =R B 5 g e
T S w0 o aft A s e ¥
e g 1 26 =fHE & A st
T Ian g R

a) 1.8f6.A., 0.15 fkf.
b) 2.2 .., 0.20 s di.
¢) 2.8 &%, 0.25 .
d) 3.3%.., 0.3 A.

Who among the following is immediate
leftof F ?

a)l

b) J

c)L-

d) Cannot be determined

¢) None of these

How many persons are seated between
KandF?

a) 1

b) 2

c) 3

d) Cannot be determined
e) None of these

The speed of sound waves Is 300 m/s.
At a place a person hears the sound
produced after 5 seconds white ancther
hears the same sound after 6 seconds.
The maximum and minlmum distances
between the two persons are

a) 1.8km; 0.15 km
b} 2.2km, 0.20 km
¢) 2.8km, 0.25km
d) 3.3km, 0.3km

e) T 8w ¢) None of these
68. frfafes sl an @ HA R 68. The ascending order of the following
E. i, 9. 1 fractions 2, 4,3 1
3'5'8' 2 3'578'2
2481 2481
9355802 835802
2 413 2 4 13
"3352%8 Y352
4 2 13 4 213
9573238 953208
3124 3124
V%2735 V3235
) T & # 7 8) None of these _
“CGP - 16- 024 SeteA
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89, R 4%"?:}=9.?ﬁx3ﬁty‘¥m'§ 69, It 4%*!{:}=9, then the vaiues of
8) Xx=2,y=5 x and y are given by
b) x=5,y=2 a) x=2,y=5
¢) x=2,y=9 b) x=5y=2
' c) x=2,y=9
A x=7,y=1 d) x=7,y=1
o) T A= ¢)' None of these
70, -we Tl fong @ o e e M 70. Asslgn correct mathematical signs and
Fiforg | find the missing figure.
MW 4532=17 ¥ 4532=17
8372=27 8372=27
H6247=2 then6 247 = ?
a) x,+-—;9 8) x+-:9
' , B) 4 %,-;7
~ b) +,%,-:7 & = %415
0 =X +i8 d) + - %20
)+~ xi20 a) None of these
e) 7 & 5 Tt
7. T SR OF W A-a-ig}m B 71. A man goes from a place A to another
el st} 18 ey gl 50 fsh L R =T ptace B. He covers half a distance at a
A i =t 70 P L Am A speed of 50 km/h and other half at a
Tt lﬁﬂm;ﬁ et speed of 70 kmvh. Hls average speed
) for the whole Joumey Is
a) 58 fs./H. 2 56 kb
by 54 5. fd. t) 54kmh
c) 60 & /d. ¢) 60km/
d) 65 f.m. /4. d) 65km/h
a) ot z}zﬁﬁ:{ﬁ ' g) None cf these
CGP-16-02» Page No. 256 Set-A
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(. 123 a5 987 I au 4251:;@1 884 72. 1f123 stands for 987 and 426 for 654,
m‘r mﬁh Tt B, A 204 “ﬁ[ﬁ_i@_‘% then 23{ stands for
2) 785 8) 785
. b) 5867 2 b) 586
W
N c) 768 % % grc, c) 768
d) 876 d) 876
e . 1
ST A 7 A 8) None of thase
L 73 RH ek R w7 73.  Which number In the die is
e — opposite 6 7
: 2 3y .
6 . 2 3
> 5 ° & 1
3 | 5
a1’
" a1
LA b 4 b
2N D ) 4
o 2 G) 5
e) FH A Hﬁ§ LG @2 .
o) None of these
74. 244 46+8+...+80=
B S sH 74. [[2+4+6+8+...+80=S, thenthe
2) 1460 value of S is
a) 1480
c) 1640 ¢) 1640
d) 1680 d) 1880
o) ¥ & B T 6} None of these
75. ﬁﬁ%ﬁﬂ ﬂ ¥ 9 siftn 75, Find the odd one out In the following
17,1, 29 31 39, #1 17,19, 29,31, 39, 41
o a} 29 a) 29
S b) 31 - b} 31
) c) 39 ¢} 39 oo
d} 41 d) 41
8) ¥ U T el 8} None of thase
CGP-16 - Q2 Page No. 25, Set-A
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76. Tawft wrx H, e v #, MecanfEa],
w1 7 7 ¥ sRaEh gianit & wen
S 40, 50 ¥ 60-th1 37 ailwg = 9E-
Wi # wefdfa fean st R1 R g0 B
el ool W8 T T W w1
Lok

a) 150°
b) 120°
g) 100°
d) 50°
a) i @ w T

77, 20 7 & 80 wd Y a1y ¥ =lFaat W
AR Hed §H Y E
g 60w 50w 40=d 30w 20w
i T ™ T i
=fF@ 60 50 40 30 20
_ Tk ic .
‘ 30 % 35 9 % syl & =ufei it
e 1
a) 033B5F A
b) 10
¢ 5
d) P odt i asd
o) Tl & ¥
i 78. Freafafm oft § W 4’ R 2, Fress
' w7 ARy A 9
98?6543217425867461234742356

76. In a cily, there were 40 accidenls.
50 accidents and 80 accidents ina time
pericd involving motoreycles, cars and
trucks respectively. This dala is
repiesanted by Pie diagram. What is
the central angle of the part
representing accidents by cars 7

a) 150°

b) 120°

¢) 100°

d) 50°

&) None of these

77. Frequency distribution of the persons
between the age group 20 years and
B0 years is given as follows :
Age Upto60 UploS0 Uplo4D Uplo30 Uplead
yrs yrs yrs YIs yIs
No.of 80 50 .o} 30 20
Persons
What is the number of persons within
lhe age group 30 and 35 years ?
a) Between 30 and 35
by 10
c) 5
d} Cannot be delermingd
¢} None of these

78. How many such '4' are there in lhe
following series, which is immediately
preceded by ‘7' but not immediately
followed by ‘3" ?

1
74308744 0876543217425867461234742356
g) 2 74308744

b) 3 a) 2

X o 4e b} 3

: d 5 c) 4

5' 3 99

. o) ¥ & A e) None of these

: CGP-16-02w Page No. 27 Sei-A
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79. e ‘DELHI'S el @ 1@ frem 1%

(arefyef 1 stefedia) = o W) ) oremt
‘EagEERi? _
a) 5 e ‘:_' _,,"'.\—‘)'
06 v
c) 12 P o
d) 24

o FaRT

-X
80. 3k 15x = .05y.a‘l.¥-'~ff FAA TR ?
y+X

.\m

- '
)/935 Yol I's

b) 836 .-
y 735
I

a o

o AR o

. !
81. ﬁrmﬁﬁ;maf@aﬁ%;/;anmﬁam
) 1| e A T T 10% S RIS
) e | TR Y 5% T AR 231 5
W T 3= ) e wid

HagFF R
a) 180%. .%o
by f60%. 7 _
C) 140%, T ,.- \I.\, !;'::_'-_-' !
d) 120% _ 230 )
E)Eﬁﬂﬂﬁiqﬂ b e

82. 4.86TM,5.69TM,5,12 19, 4.71 T,
4.94 7 3 5.04 A AF AR

\

e

- i . ‘oA

635 fi\'.-}‘-----j. :ﬂ:“;:.,‘}_‘f} [

i

S
e

o

FRVENY

79. How many words {with meaning or
without meaning) can be formed with
.the letters of the word ‘DELHI' which
begin with lh% {etter ‘E' ?

rl._,{;3)5 f[{ _r,' ’h-.)_,, 4 -
T8 e T e

c) 12 T
d) 24
g} None of these

80. If 1.5x=.05y, then whatis the value of

y=x,
yx
a) .935
) .835
¢} .735
w1 d) B35
.- e) Nonsof thesa

81. Kishan sells an articte to Kamal at'a '

profit of 25%. Kamal sells it to Kamlesh
at a profit of 10% and Kamlesh sells it

for Rs. 231 toKarunash to get a gain of -

5%, What is the cost piice at which-
~ Kishan bought the article ?

.2} Rs. 180
;- b) Rs. 160

27 o) Rs. 140

d) Rs. 120
e) None of these

. 82. The average of 4.86 gm, 5.69 gm,

5.12gm, 471 gm, 4.94 gmand 5.04 gmis

a) 4.69UTR ] a) 4.69 gm
b) 4,59 b) 4.59gm
¢) 4.95U c} 4.96gm
d) 4.46TH d) 4.46 gm
€] 7 A & ¢} None of these
CGP - 1602+ Page No. 28 a1 Set-A
o=l
-7 c

\r‘

e d
»:I-" g) None of these
-

83. When the numerator of a fraction is
increased by 4, the fraction increases

2
by 3 What is the denominator of the

fraction ?
a} 5 .
B3 L T !
04 M L
e d) 2 A T

PRI
]

3
84. Value of {16)¥%1s

aj 12
b) 16
c) 48
" d) 8
e) None of these

. 86. If the heighls of two cones are in the

ratio of 1 : 3 and their dlameters are in
the ratio3 : 5 ; the ratio of thelr volumes
will be

a) 3:25

b) 9:16 .
" ¢) 8:25

d) 9:25

¢) None of these

g5. At3:40 hrsthehourhandandihe minute
hand of a clock form an angle of
a) 110°
b} 120°
c) 140°
d) 130°
g) None of these

A
83, v freh o 35 o ¥ 4 A },
it %Tﬁ?ﬂiﬁm% IR wwT?
a
a) 5 a¥X® -
. -~ - G
by a3’ v o
¢ 4 A
d} 2 . ‘,¥ Y -
oy THARG T
;.>.).,,_ 2
: 84, (16)¥ M TER .- Ay
. l(j j‘r
: a) 12 (%
: b} 16 23
¢) 48 -
: ~d) 8 .
o) T @ = T
, 85 uﬁa‘txi@aﬁ-ﬂm"mﬂg_aw1 138
o mmaﬁmmﬁal:_sﬂiam-
s o g
a) 3:25 Viny
L) 9:18
¢) 8:25
\gy9:25.
e) 7 & 2 T
g6, w2t 3 40 79 v o B oo el
ot e e g 3 i B @
&) 110°
b) 120°
c) 140°
wd) 130°
o) FHABE T
CGP—16-02%
M b e B
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g7, ‘R o Shfir 8 38 Ta dE & fag

90. fimfafes & @ mwaarsﬂ |

7 T B a) Aftem
a)ﬁw b)m-
by R %
. d) 3T
c) e o AR
. d) 8w
g) T A F T w o1, TR TRATA TR =
a) | ‘
88, 1 wez St wepa 3i s § g e b) afe
o & o ¥ 3 T c) fe
g} @
) e) vl & o
b) ¥ .
o) fedeh 92. ‘wrad TR A A I g 7
d) T4 ¢ 8) ®
o) gt B W e , b w
o) 9fi
gﬁﬁaﬁ:rﬁiﬁaﬂgw%? d) T|
a) wfty Free sl ) e anfe g o) T A T W
. AR ,
_ frerifiea 3 U < T B9 R
by iy § wum e TR -
¢) "ty w1 a1 & sremm b} Ht
o) Gy A i g - o) =
d) 7@
o) w o AR
CGP-16-02% Page No. 30 Set-A
7.1—
0, S

. SR IO
Prfafas § | - T WA 98, ‘U8 mAgIE R
e - ?
g () TR T ) w30
a) ¥ -
by § by westt Bl
9% ) = Bl
d &
e) ¥ d) o B0
g5. “Waﬂtm"aﬁmﬁm e) T8 @ F
CToh
a) Wi @ Prcrfrfam & - i el aataren
b) WIG-HFLs M R 2 ?
¢) fri s
Ay W~
d) FA-T
8) g1 § A T& b} =13
d E..[ﬁﬁwwﬁﬁl ¢} S,
a) i T IR T B R 8 e
b) 2t T & ST AW E '
- ¢) Bt i s w1 g TR g) =
wy.
d)%ﬂ?\ﬁa{ﬁd‘(aﬁﬁﬁ?ﬂ.- . Afafer 13 wied “wEd TR |
o) Tl U w - ,
a) Tra vl
g7. ‘" wehE) i
b) <=3
a) I
b) 3T c) afzm
c) ¥Ue0 . & @
d) TR » )
g) Tl A F TE e) T 8 w TE
CGP =16~ 02+ Page No. 31 {;——gé{j"
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INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS '

T & T awaht R

paper [lrom the

{Please use Black Ball Point Pen Only}

1. Method of Marking Answer :
To give an answer, please darken
one bubble out of the given five, in
ihe OMR Answer Sheet against thal
guestion.

2. Valuation Procedure :

There are five answers to a question,
only one of them is correct/nearly -
correcl. 02 marks will be awarded for
each correctnearly correct answer
and 01 mark will be deducted for
each wrong answer. [{ morethanone
bubbie are darkened for a question, it
will be trealed as wrong answer.

Handing over of Answer Sheet to
Invigilator :

(i} Please ensure that all lhe entries in
the Answer Sheel are filled up
properly i.e. Name, Rall No.,
Signature, Question Booklet No.
elc.

T

(ii} Before the Himitation of 2 Hours:
duration while leaving thé
examination hall, hand over the
question paper lo the invigitator. if
needed, alter duration of pericd,
you can ask for your queslion
Centre

Superinlendent.

4. CareinHandling the Answer Sheet.
While using Answer Sheet adequate
care should be taken aboul lear or
spoil due lo folds or wrinkles.

(e ek et WTZUZ O @R € R )

1. TR F R :
I & B 2R am, I gfReE A
T A & ar i R m ofe e 7
} et 0 TR B OO e Fi |

ZWWﬁ’i

- v wA F e gonfE sw g, 31&[\

ﬁ@ma‘é/mmmélmm
wd/ T wd I i w0 @ 0231?5
W R aen e IR 3ifE w7 qt
01 sie iz T | TR T A S
el foRd TRy & S g Tt S AT SR

3. wwr-vite e = W

(i) daw w sm-te d F
-ghifts =t & T am-we % 9
i et qfifa @ A, G-,
TR, - W TR, AR
Aot em R dw-Sm W E |

() 29w R am dim F g e T
Tred T TR e & TR
= 17R e g A W T S
A T & A Y- I
el TR §

4. TR-¥ie % Iuaim i wEEE
Fat-sfe T F w Q@ TE A
e 1w, M W wee
AEmF AT |
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MODEL ANSWER

SUBJECT - (023 APTITUDE TEST SET-A
QN Afs. | QN Ans, Q.. Ans. QN Ans.
t e 26 cC 51 D D 76 1} B
2 p p| ¥ ¢ ¢ 52 D p| 7 D D
3 D p 28 D D 53 EE 78 c ¢
4 A A 29 ¢ ¢ 54 B g 7% p D
3 E g| 30 8 n 55 B g &0 A A
6 C ¢ 31 D D 56 B g| ¥ B @
7 c e 32 C ¢ 57 E £ 82 E Q
S8 Al 0B a |l S8 B B % E E:
g e 34 B g 59 DD 84 D D
D pj * A al A Al B A A
A A 36 D p 61 A A ) LY

B g| ¥ ¢ c| ¢ E B} ¥ E =

8 g| 38 B g| &3 5 @| o8 D 5
B g 9 A al o D D 89 A E]
b 40 g g| 65 B gl 8 B,
A M A Al s@ ¢ e ¥ DD
17 D D 42 B @ 67 D p| 9= A Aj
16 B g 43 B p| ¢ D p 33 bRl
19 b D 44 E E 69 B g 94 EE
20 C ¢ 45 A A 70 B R a5 B g
21 A B 46 A A 71 E g % E ¢
22 DD 47 E E 72 D D 97 cCD
23 g E| 48 B B 73 c e| 8 E E
= % c 49 cef ™ c o * p D!
25 A A 50 A Al TS c o 100 A Hl

%\\Y D R

v, wliw d A,

RS
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